

$$\int x \ln^2 x \, dx$$

$$u = \ln^2 x \quad dv = x$$

$$du = \frac{2 \ln x}{x} \quad v = \frac{x^2}{2}$$

$$\int x \ln^2 x \, dx = \frac{x^2 \ln^2 x}{2} - \int x \ln x \, dx =$$

$$\left. \begin{array}{l} u = \ln x \quad dv = x \\ du = \frac{1}{x} dx \quad v = \frac{x^2}{2} \end{array} \right) = \frac{x^2 \ln^2 x}{2} - \left[\frac{x^2 \ln x}{2} - \frac{1}{2} \int x \, dx \right] =$$

$$= \frac{x^2 \ln^2 x}{2} - \frac{x^2 \ln x}{2} + \frac{x^2}{2} + C$$

$$\int \tan(x) \, dx$$

$$u = \tan x \quad dv = dx$$

$$\frac{du}{dx} = \frac{1}{\cos^2 x} \quad v = x$$

$$\int \tan x \, dx = \int \frac{\sin x}{\cos x} \, dx = \int \frac{1}{t} (-dt) =$$

$$= -\ln|t| + C =$$

$$= -\ln|\cos x| + C$$

$$\int \frac{dx}{\sqrt{x}(x+1)}$$

$$t^2 = x \quad dx = 2t \, dt$$

$$= \int \frac{2t \, dt}{t(t^2+1)} = 2 \arctan t + C = 2 \arctan \sqrt{x} + C$$

②

$$\int x^k \ln x \, dx = \frac{x^{k+1} \ln x}{k+1} - \int \frac{x^{k+1} \, dx}{x(k+1)} = \text{B3}$$

$$u = \ln x \quad du = \frac{1}{x} \, dx$$

$$v = \frac{x^{k+1}}{k+1}$$

$$= \frac{x^{k+1} \ln x}{k+1} - \int \frac{x^k \, dx}{k+1} =$$

$$= \frac{x^{k+1} \ln x}{k+1} - \frac{x^{k+1}}{(k+1)^2} + c$$

→ 110 1100 B

$$\int 2x \arctan x \, dx = 2 \left[\frac{x^2 \arctan x}{2} - \right] \quad \text{B1}$$

$$u = \arctan x \quad du = \frac{1}{1+x^2} \, dx$$

$$v = \frac{x^2}{2}$$

$$= \frac{1}{2} \int \frac{x^2}{1+x^2} \, dx$$

$$\int \frac{x^2}{1+x^2} \, dx = \int \frac{x^2+1-1}{x^2+1} \, dx = \int dx - \int \frac{1}{x^2+1} \, dx =$$

$$= x - \arctan x + c$$

→ B1) 1100

$$x^2 \arctan x - x + \arctan x + c$$

$$\int x \arctan(x^2) \, dx = \frac{1}{2} \int \arctan(t) \cdot 2x \, dx =$$

$$t = x^2$$

$$dt = 2x \, dx$$

$$= \frac{1}{2} \int \arctan u(t) \, dt = \frac{1}{2} \left[t \arctan(t) - \int \frac{t}{t^2+1} \, dt \right] =$$

$$u = \arctan t \quad du = \frac{1}{1+t^2} \, dt$$

$$v = t$$

$$= \frac{1}{2} \left[t \arctan t - \int \frac{du}{2 \cdot u} \right] =$$

$$= \frac{1}{2} \left[t \arctan t - \frac{1}{2} \ln(t^2+1) \right] + c =$$

$$= \frac{1}{2} \left[x^2 \arctan x^2 - \frac{1}{2} \ln(x^4+1) \right] + c$$

$$\int x^2 \sin(2x) dx$$

(17)

(3)

$$t = 2x \quad dt = 2 dx \Rightarrow$$

$$\Rightarrow \int \frac{t^2}{4} \sin(t) dt = \frac{1}{4} \int t^2 \sin(t) dt =$$

$$\left. \begin{array}{l} u = t^2 \quad du = 2t dt \\ du = 2t \quad v = -\cos(t) \end{array} \right\} = \frac{1}{4} \left[-t^2 \cos t + \int 2t \cos(t) \right] =$$

$$\left. \begin{array}{l} u = t \quad du = \cos t \\ du = dt \quad v = \sin t \end{array} \right\} = \frac{1}{4} \left[-t^2 \cos t + 2 \left[t \sin t - \int \sin t dt \right] \right] =$$

$$= \frac{1}{4} \left[-4x^2 \cos 2x + 2 \left[2x \sin 2x + \cos 2x \right] \right] =$$

$$= -x^2 \cos 2x + x \sin 2x + \frac{\cos 2x}{2} + C$$

$$\int (\sin(x))^{2k+1} (\cos(x))^{2k} dx$$

(16)

$\int (\sin(x))^{2k+1} (\cos(x))^{2k} dx$
 : $\sin(x) = t \quad \cos(x) = \sqrt{1-t^2}$
 $dx = \frac{-dt}{\sin(x)}$

$$t = \cos x \quad dt = -\sin x dx$$

$$dx = \frac{-dt}{\sin x} \quad \sin x = \sqrt{1-t^2}$$

$$\int (\sqrt{1-t^2})^{2k+1} \cdot t^{2k} \left(\frac{-dt}{\sqrt{1-t^2}} \right) = \int (\sqrt{1-t^2})^{2k} \cdot (-t^{2k}) dt =$$

$$= \int (1-t^2)^k (-t)^{2k} dt = \dots$$

$$S_n = \int (\sin x)^n dx$$

$\int (\sin x)^n dx = \int (\sin x)^{n-1} (1 - \cos^2 x) dx = S_{n-2} - \int (\sin x)^{n-2} \cos x \cos x dx =$

$$S_n = \int (\sin x)^{n-1} (1 - \cos^2 x) dx = S_{n-2} - \int (\sin x)^{n-2} \cos x \cos x dx =$$

$$= S_{n-2} - \frac{(\sin x)^{n-1} \cos x}{n-1} - \frac{1}{n-1} S_n$$

$$S_n = - \frac{(\sin x)^{n-1} \cos x}{n} + \frac{n-1}{n} S_{n-2}$$

(4)

$$\int (\sin x)^{2k+1} (\cos x)^{2l} dx = \int (\sin x)^m (1 - \sin^2 x)^k dx$$

$2k+1 = m$ $2l = 2k$

$$= S_m - 1C S_{m+2} + \dots + (-1)^k S_{m+2k}$$

$2k+1 = m$ $2l = 2k$

$$\int \sin^2 x \cos^2 x = 4 \int (\sin 2x)^2 dx =$$

$$= 4 \int [1 - \cos 4x] dx = 4 \left[x - \frac{\sin 4x}{4} \right] + C =$$

$$= 4x - \sin 4x + C$$